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(a) Prove that the sum of the first n odd numbers is a square number for any value of

(b) An arithmetic series is defined by
7k + 14k + 21k + ...+ 1008

where k is an integer.

0]

In terms of k, find an expression for the number of terms in this series.

(ii) In addition to being an integer, what other two conditions must k satisfy for

this to be a valid arithmetic series?

72576
(i) Show that the sum of this series is 504 + = —.
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(i) Interms of k, find an expression for the number of terms in this series.

(if) Tn addition to being an integer, what other two conditions must k satisfy for
this to be a valid arithmetic series?
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The seventh term of an arithmetic series is 3k, where k is a constant, and the sum of the
first nine terms of the series is 4k — 3,
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The seventh term of an arithmetic series is 3k, where k is a constant, and the sum of the
first nine terms of the series is 4k — 3,
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Anarithmetic series is defined by

Sy = (k+13) + (2K +9) + (3k +5) + ..+, +

(a) Find an expression for n in terms of w, and k.

Fora particular value of n, u, = ~16 and 5, = ~11.

(b) Find the value of k.
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Anarithmetic series is defined by

Sy = (k+13) + (2K +9) + (3k +5) + o+, +

(a) Find an expression for n in terms of w, and k.
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For a particular value of n, u,, =/ jand S, = —11.

(b) Find the value of k.
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‘The first two terms in an arithmetic sequence are (p + 15) and 3. The fourth term is
Gp - 16).

Find the value of p.
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‘The first three terms in an arithmetic sequence are (q — 2), %, (4 +5), ..

Find the possible values of g.
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An arithmetic sequence has first term 72 and common difference 2r, where r > 0. The
fourth term in the sequence is 4.
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‘The third term of an arithmetic series is 32. The eleventh term is 0. The sum of the first
nterms is -44.
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‘The sum of the first twelve terms in an arithmetic series is 654. The sum of the first

twenty terms in the same series is 530. Find the 21+ term. S.= 654 $,=530 Up= O+ (n- d
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